EisL =R WAT = )

HE =1 B METOME -
(Ni"f=—1¢
Q) EEE >0 v b=vbio

B (Dx"= 1 B9 =+ = + /-
@u%~2mﬁﬁx:i$3:r2w
(ﬂ\——9ﬂJ 4= £y -0= +9/= +3i ¢

DL i 3o Fols A # A 0g

(Dx*=-3 (205 +4=0 - (x =—12 -

ML, EIHASE » Al 7 14x 50=0 K
x=74-1=7+>
%7+ SEME RS - RARE

Ha, b BEY Wllarbi HEEAEE > Hbh oA o+ bi WEER » b
B a+bi BUEESD o



LI 2R WAL S

IR a+vbi (H o, b BEWO - FePE—2LHRHATE -

(A a+ (=) i @M LR R a—bi> Bl av(—b)i=a—bi; WA a+0i 18 B
AL R a0 Bl a+0i=a s B 0+0i BB AT LIRC Ry bi 0 B O+ bi=bi» H 1i
A TSRO Ry £ e

2VEFIL b=0 W > a+bi=a+0i=a FHER—FER  WBLER - BT R E
5y O IS - Bt 4,0, V2, n SERR I R -

GYE R b0 I Tl a+bi o FE B - #1410 :
427, 30 FHGR RS tha E -
FHIL RN > BOR SR BY . ey

BRI AR R - T

RN A S B B B R
(1)1 =27 - (2)4 - (3)3i °

(VB Z 1 =2i=14+(=2)i FFud 20 b9 4B |2 s -2
() & 4=440i PRyt d oy ap s 4 A0
(3 & 3i=0+37 FTRA3i)TH L0 B3B3

BT e R

SR F 2% 48 BN B S B o
(IN243/ (2) /57 » (3)0

BT A B B B -

BN EE A E A  REA%E ) BEREEEAEE - 2R
Ba b, e, d BEEF  arbizc+di NEBEREZ a=c H b=d -



GUCES B

R E AN I -

CLNE B o, b W (0—2)+4i=142bi * K a, bHI{H »

(Z) BRI HIE R
15 7R - RN AR E B B UL IR A
SYBOHE - REREANT -

Ha,b,o,d BEH - _

(MIGE  (a+by+(c+dD=(arc)+{b+d)ie
{2)iRGE (a+b.r’)m(c+di):(a—c)'+(b—d)f o
{3) % (C.f+b.i)(c+a'f):(ac——bd)-f"(aderc}i o

A SR R L B M A M B AR B TRIEREIA
M5 BCEE - TEUGRTER T AR EE 2
(a+biYc+di)=(a+biye+(a+bi)di
=ac+beitadi+bdi
=ac+beit+adi—bd

=(ac—bd)+(ad+bc)i -



B 26 1 T R

ST — SRR ~ A B A 1

(2)21“22 ° (3)3122 °

(z,+2,=(3+40)+{5-30)=(3+5)+(4-3)i=8+/ ¢
(27, =2, =(3447)—(5=30)=(3=5)+ (4= (=3))i= =247/ »
(3)z,2, = (3+4)(5 =31V = (3+47) X S+(3+4i)(=37) = 15+20i—9i~ 127

=27+11i-
J( 5,5 ﬁﬁ@) ...........................................................................
AN 2, =2+31, 2, =2 3+ SKFFIK G -

(Dz,+z,° (2)z,—z, ° (3)z,z, °

P S DR B Sl ik AR e - AT DU T S R B s

2,2, 2, BEREEENES  BITFHSEERT -
(1) IR © 2 4z, =2,42,
rzy=z,2, 0
QDIEBETE 2+ (2 425)= (2, +2,) 424 )
2 {zy23)= ( P
BVABER 7, (2,+2,) =77, 47,2, ©

MR LL A8 o i
J=2x =3 =(2i)[V3i) V2 x i xV3 x =2 x V3 x ixi
:(\/5 X«/g)(fxf):: e




MM 2 T

R, . 2 32 e o fA 1 oT
Az BT B 2z, =, L RIS B R 1 IR RS

" H—1
z =z z e
sk 2Lt
Q3R i P
(1)
i'=ie PeitXiz1Xi=jo
=1 P XX (=)= 1 o
P X (= 1) X = = e i X=X (= =i
=P X = ()X == o Poitxitzixi=
@7 47ttt (D (=D 4 Erit (= 1) 4 (=) +1=0 ¢

— S H o RIEEEE R, 1, - M=
VYl o REE i B & PR IEER R 80 - 208 3 Fir / \
I'-H+2:__I ~4A'|-|: l

,,,,, I
N \ /
i-lk *3 . -y

Ak+] | ka2 Ak+3 . Akd
/ =F,f =11 = / =1>

k] bl

,
Hep k R IR sEy o h

ChmE ) e
oK 51 AOE -

51



TR A 25 TR A AR

ﬁﬁﬁ@ﬁm%mi%i@MH%MﬂUﬁ»&ﬁﬁ%E%%ﬁﬂﬁ@m

C+di

B s O R 5 BRI SR -

o+

A HIR (c-{--cﬁ)((,'wd.f):c%rdz By IR crdi W o—di A

Ty HLEEAE R AR A 0 sy 0 BT - di 1R

ctdi

a+bhi (a+bi)(c—di) B (ac+bd}+{bc—ad)i )

crdi (c+dife—di) - o d?
— - ’+[ N+-{bc— 1 f e g L | + bl be - d
=4 0 U5 (ac sz (ch ad)i g B (([§+)62 )+( ; az )1‘ i
o d ¢ +d ¢ +d

S b,e,d BEH  He, dTHEEAO
at+bi ac+ bd he—ud ‘o
C+d! c2+d2 2

¢+ 612
1 F G MR a v bi (L a, b EE0 AR -

1 24+
1) e (2) =— -
)3-}«4:‘ }i—i
| IX(@3-4)  3-4i  3-4i 3 4

347 (3+4)(3-4)  Pe4t 25 25 25
240 (2+47)(1+7) C2%2ii=1 130 N 3
f—i (1=)(1+7) 127 2 2 2

(2)

HUPE | WA Rk R AR S - LUGIRE S (2) Rl BSOS R

i 3 . . . W - AT N ]t By £ [y F EY
o S B |~ PRI ASRAAA T 2 i SRR
| 3 ] 3 | 3
—_—t = =N —x - = - Y4 =1+ = X 1) i=2 47
e/ (RUE R >(2() !




